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g . (¢) Tree Topology: Tree topologies are comprised of the mult‘iple star topologies
e cn a bus. Tree topologies integrate multiple star topologies together onto a
: : AL 'a star topology, nodes in a tree are linked to a central hub that
controls the traffic to the network. Not every computer plugs into the central
hub, majority of them are connected to a secondary hub. The central hub is
an active hub which contains repeater. The secondary hubs may be active or
passive. Only the hub devices can connect directly with the tree bus and
each Hub functions as a root of a tree of the network devices. This bus/star/
hybrid combination supports future expandability of the computer networks,

much better than a bus or star.
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